Algebra Il
13.3 Coordinate Trigonometric Functions
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Quadrant |l (-x, y)

sin@ =

cosd =

tan@ =

Quadrant Il (-x, -y)

. | “3
sin@ = <
-
cosf = -
tanf="3 . %
x %

3
2

-

fe npx

-

x

Quadrant | (x, y)
ind=-&
siné 2

= &
sin A
cosfd = X
R

tan@ = "%
b3

Charge of Trigonometric Functions According to Quadrants

Quadrant lI 1 Quadrant |
sin + sin 4
cos - COS 4
tan - tan 4
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Find the values of the six, simplified trigonometric functions of angle 9.
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'ﬁ 2 = =2 G
sind = /7' cscd = /ﬁ /3
[ 2/ = .
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Finding Function Values of Coordinates

Given point (x, y), use the Pythagorean Theorem (x2 +yt = rl’) to figure out the value of r.

Find the values of the six, simplified trigonometric functions of angle 9.
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] A 3 Yoo + 2%4 =Rt
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tand = _3 cotd=12 #
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Find the values of the six, simplified trigonometric functions of angle $.

2
7)) sin3=—‘7@, with & in quadrant I. (x)z + (.r;)" 2 (7)

P = x* +§ =49
sind = /'F cscd = /f? x? =9 4 G
> {7 5
costd = ‘/"-'_’/; secd = %-‘;; ' " i
- <~
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tan9 = 4:;"' cotd = 4?—
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8.) tanSz—%, with 9 in quadrant Il. (’5) *'(“’) e
226 + 64 "R -
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sind = /-’. cscd = / 5 269 IS
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-§ — 13/, -
cosy = /?' secd = ¢ ¥
Ty -,
tang = / & cotd = /f’

9) c059=—§-, with ¢ in quadrant Ill.
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